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Instruction :  All questions are compulsory and figures to right indicate marks allotted to

1. (a)
(b)
(c)
2. (2
(D)
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each question.

“Strategies are required to be set at different levels.” Explain. 7

OR
‘Strategic decision-making is difficult to perform.” Why ?

Answer briefly : (any two) 4
(1)  State the difference between vision and mission.
(11) What are critical success factors.?

(1) What are key performance indicators ?

Define : 3
(1)  Strategic intent
(1) Strategy

(1m) Business

Explain some  important factors and influences operating in the market

environment. 7

OR
Explain Porter’s Value Chain Analysis.

Answer briefly : (any two) +
(1)  How is cost leadership achieved ?
(1) When is retrenchment strategy adopted ?

(11) When is stability strategy adopted ?
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(¢) Define : 3
(1)  Organisational capability
(1) Competencies

(i11) Environmental scanning

3. (a) Explain GE Nine cell matrix.
OR
Explain Industry Analysis.

(b) Answer briefly : (any two)
(1)  State the steps in strategic choice process.
(1) How gap analysis works ?

(m) What 1s strategic plan ?

(c) Define :
(1)  Strategic Analysis
(11)  Substitute Products 9

(111) Corporate Parenting

¢

4. (a) Explain the nature and of

nal plans and policies. §

operational control differ ?

(b) 4
s in process of evaluation.
advantages of matrix structure.
the characteristics of vertical structure.
3

(1) Horizontal Fit
(i1)  Strategic evaluation and control

(m1) Operational Implementation
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5.  Select the right option : 14
(D) 1s specific, while is more generalized in nature of all

strategic controls.

(a) Premise control, strategic surveillance

(b) Strategic surveillance, premise control

(c) Strategic surveillance, special alert control

(d) Special alert control, strategic surveillance

(2) is applicable as technique for strategic control when the environment 18

stable while is applicable when the environment is unstable.

(a) Strategic momentum control, strategic leap control
(b) Strategic leap control, strategic momentum control
(¢) Quantitative analysis, qualitative analysis

(d) Qualitative analysis, quantitative analysis

(3) 1s at the heart of any evaluation process.

(a) Information system
(b) Control system
(c) Both information and control system

(d) Strategy

(4) There are Ps of operational efféctiveness.
(a) two (b) / three
(c) four (d) seven
(5) structure 18 the most elementary form of structure.
(a) Entrepreneurial (b) Functional
(c) Divisional (d) Matrix
(6) result in different kinds of programs while _ lead to the

formulation of projects.

(a) Programs, plans (b) Plans, programs
(¢) Plans, policies (d) Policies, Plans
(7) There are competitive forces that determine the intensity of industry
competition.
(a) four (b) five
(c) sIx (d) seven
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(8) There are steps in the process of strategic choice.

(a) three (b) four
(c) five (d) six
(9) For expansion, is often the first preference strategy for a firm.

(a) integration
(b) diversification '

(c) concentration ' \
(10) involves selling the same products to new markets while \

involves selling new products to the same market.
(a) Market development, product development

(b) Product development, market development

(c) Market development, diversification (
(d) Duiversification, market development o
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